

UNIVERSITY OF THE PHILIPPINES BAGUIO

Governor Pack Road, Baguio City, Benguet, CAR VAT Reg. TIN: 000-864-006-00007 Telefax No.: (074) 442-3484 email address: spmo.upbaguio@up.edu.ph

Request for Quotation PROCUREMENT PROJECT: Supply and Delivery of IT Peripherals and Accessories

PR No. 14405, 14575

Approved Budget for the Contract: \$\mathbb{P}\$ 172,800.00

Date:	May 27, 2021	
RFQ No.:	2071	
MOP:	Small Value Procurement	

INSTRUCTIONS:

- 1. Accomplish this RFQ correcttly and properly. All entries must be typewritten and/ or legibly handwritten.
 2. Bidder should attach a copy of the latest Mayor's/ Business Permit, PhilGEPS Registration Number, Omnibus Sworn Statement (for ABCs above Php 50,000.00).
 3. Submit your quotation at SUPPLY AND PROPERTY MANAGEMENT-OFFICE (SPMO), UNIVERSITY OF THE PHILIPPINES BAGUIO, GOVERNOR PACK ROAD, BAGUIO CITY or you could email your quotation to spmo.uphaguio@up.edu.ph NOT LATER THAN 12:00 NN on 3 June 2021.
 4. Failure to follow these instructions will disqualify your entire quotation.
 5. PAYMENT: within 30 days from completion and acceptance of delivery.

Please quote at your lowest government price (including VAT) on the item/s listed below, and state the time of which you can make delivery. The statement below shall be the basis for the evaluation and calculation of your quotation.

RODOL FO T.

ITEM NO.	GENERAL DESCRIPTION	Compliance with technical specifications (Pls. check)		UOM	QTY	UNIT	TOTAL	QUOTED	TOTAL
NO.		YES	NO NO	-	***	PRICE	PRICE	UNIT PRICE	QUOTED PRIC
	PROCUREMENT PROJECT: Supply and Delivery of IT Peripherals and Accessories								
1	AX 3000 Gigabit Dual-Band Wi-Fi 6 ROUTER - 574 Mbps at 2.4 GHz + 2402 Mbps at 5 GHz; Wi-Fi 6 Router; 4x Anthenas; Intel Dual Core CPU			рс	2	P 8,000.00	P 16,000.00		
2	HEADSET - Clear & Accurate Positional Audio; Ultra-Light Ergonomic Build at 250g; Crystal Clear Communication; Convenient Audio Control; Cross platform compatibility			рс	4	P 4,500.00	P 18,000.00		
	High quality, branded, 2TB Portable External Hardrive, rugged with anti-shock protection, see attached complete specifications.			рс	3	P 4,700.00	P 14,100.00		
4	High quality, branded, Dual-band AX5400 Wi-Fi 6 Router, 1.5GHz tri-core processor, 256MB Flash, 512Mb RAM, 5 gigabit ports, see attached complete specifications.			pe	4	P 9,000.00	P 36,000.00		
	High quality, branded, Gigabit PCI LAN Card for desktop, see attached complete specifications.			рс	4	P 1,000.00	P 4,000.00		
6	High quality, branded, Solid state drive, 500GB SATA III, 2.5" SSD, see attached complete specifications.			рс	5	P 4,700.00	P 23,500.00		
7	High quality, branded, USB LAN Card, USB 3.0 to Gigabit LAN, see attached complete specifications.			рс	6	P 550.00	P 3,300.00		
8	High quality, branded, Uninterruptible power supply (UPS), 2000VA capacity, 1200W, 2x 12V/9Ah battery, see attached complete specifications.			pc	3	P 7,500.00	P 22,500.00		
	Productivity software, non-subscription, Home and student 2019 for 1 PC or MAC.			рс	6	P 5,900.00	P 35,400.00		
	Suppliers to indicate the following details to their bid:								
$\overline{}$	Brand:								
	Delivery Period: within 30 calendar days Price Validity:								
-	The runding.				-				
						TOTAL:	P 172,800.00		
OTA.	L QUOTED AMOUNT IN WORDS:								
_									
	Process Processor States and States of Page								

Name of the Company:	Tel. No. : Fax No. :
Name of Representative:	Email Address:
Position:	
Signature:	Date:

з PCS 2TB External HDD Technical Specifications

Rugged and portable

Designed with high endurance in mind. The ruggedized case and the anti-slip texture allow you to store and share wherever you go. Two color options, navy blue and purple, make for a stylish, trendy storage experience!

Excellent anti-shock protection

Features a three-stage shock protection system that has passed MIL-STD-810G US military transit drop test to fully protect data stored on the drive. The three-stage shock protection system includes a silicone rubber case, an internal shock-absorbing suspension damper, and a reinforced hard casing.

USB Type-A supported. Durable and reliable.
Utilizes a USB Type-A connector that has undergone 10K plugunplug tests. High durability means extra protection for your files.

Lightning-fast transfer speeds Equipped with the USB 3.1 Gen 1 interface, providing lightningfast transfer rates of up to 5Gbps.

One touch auto backup

Equipped with a one touch auto-backup button that instantly backs up your data with just one press*. The button also enables you to reconnect the hard drive to your PC without the need to unplug and reinsert it.

Extreme protection, advanced security.
Storage devices provide an exclusive disk lock and security functions. With Transcend Elite software, you can protect your entire drive and the files inside with passwords, meeting the high standard of information security.

Dimensions

131.8 mm x 80.8 mm x 16.3 mm (5.19" x 3.18" x 0.64") Weight

191 g (6.74 oz)

Color

Navy blue/Purple

Interface

USB Type: micro USB to USB Type A Connection Interface: USB 3.1 Gen 1

Storage

2TB Capacity

Storage Media

2.5" HDD

Operating Environment

Operating Temperature: 5°C (41°F) ~ 55°C (131°F)

Note

Transcend Elite software is required for One Touch Auto-backup Certificate

CE/FCC/BSMI/KC/RCM/EAC

Warranty

Three-year Limited Warranty

Warranty Policy

System Requirement

Operating System

Microsoft Windows 7

Microsoft Windows 8

Microsoft Windows 10

Mac OS X 10.7 or later

Linux Kernel 2.6.31 or later

4 PCS Wireless Router Technical Specifications

Wi-Fi Speed

- -Dual Band AX5400
- -(4800 Mbps on 5GHz + 600 Mbps on 2.4GHz)

Product Dimensions

-156 x 60 x 222 mm

AX5400 Dual Band

- -4 internal antennas
- -MU-MIMO
- -OFDMA Technology
- -2.4 GHz radio
- -5 GHz radio
- -USB 3.0 port

Processor & Memory

- -1.5GHz Tri-Core Processor
- -256MB Flash and 512MB RAM

WAN and LAN Connectivity

- -5 Gigabit Ethernet Ports:
- -1x WAN, 4x LAN

Security

- -WPA2 Personal
- -WPA3 Personal
- -WPA2 / WPA3 Mixed Mode Personal

4PCS LAN CARD PCI Technical Specifications

- 10/100/1000 Mbps
- Single Port
- Good for diskless setup
- Can boot clients on LAN

SPECIFICATIONS

Compatible Slots: 1 x PCI Ports: Gigabit Ethernet

Cabling Type: Ethernet 1000Base-T, Ethernet 100Base-TX, Ethernet

10Base-T

Interface (Bus) Type: PCI Type: network adapter

Connectivity Technology: wired

Data Link Protocol: Ethernet, Fast Ethernet, Gigabit Ethernet

Features: VLAN support, auto-negotiation, bootROM, flow control, wake on

Compliant Standards: IEEE 802.1Q, IEEE 802.1p, IEEE 802.2, IEEE 802.3,

IEEE 802.3ab, IEEE 802.3u, IEEE 802.3x, WfM 2.0 Remote Management Protocol: DMI 2.0, SNMP

Data Transfer Rate: 1 Gbps Connector Type: RJ-45

5 PCS SSD Technical Specifications

Capacity

: 500 GB (1 GB=1 Billion byte by IDEMA) * Actual usable capacity may be less (due to formatting, partitioning, operating system, applications or otherwise)

Form Factor Interface

: 2.5 inch

: SATA 6 Gb/s Interface, compatible with SATA 3 Gb/s & SATA 1.5 Gb/s interface : Samsung V-NAND 3bit MLC

NAND Type Controller Cache Memory SDRAM

Samsung MJX Controller

Samsung 512 MB Low Power DDR4

6 PCS USB LAN CARD Technical Specifications

USB3.0 to RJ45 adapter supports Gigabit networking over USB 3.0 with up to 5Gbps

Supports suspend mode and remote wakeup via link-up, magic packet, or external pin, USB-Powered

Compatible with Windows 10/XP/Vista/7/8, Mac 10.6-10.8/10.11 El Capitan, Linux kernel 2.6 and later

3 PCS UPS Technical Specifications

Ratings: 2000VA / 1200W Battery: 2x 12V/9Ah

Interface: 6x Universal Socket LED Indicators

Size: 125 x 380 x 225mm

Weight: 14.8Kg

Features

- LED display or LCD display selectable

- Microprocessor based digital control

- Boost and buck AVR for voltage stabilization
- Auto Sensing Frequency
- Wide input voltage range
- Power on self test
- Cold start
- Auto restart when mains power is restoredAuto track mains phase to ensure that inverter utility voltage, reducing transfer time and peak output voltage has same phase with surge.
- Intelligent battery management: battery temperature compensation to extend -- the battery life; three-stage charging to shorten recharge time
- Short circuit, battery overcharge / overdischarge, overload, surge protections
- Automatic charging in OFF mode.
- Optional no-load shutdown
- Optional RS232 / USB Communication port and RJ11 / RJ45 protection
- Unattended safety shutdown: system alarm and auto power-On / Off by RS232 or USB interface communicating with PC.